Contents lists available at ScienceDirect

# **Applied Mathematics Letters**

journal homepage: www.elsevier.com/locate/aml

# Fixed point theorems for operators on partial metric spaces

## Erdal Karapınar, İnci M. Erhan\*

Department of Mathematics, Atilim University 06836, Incek, Ankara, Turkey

### ARTICLE INFO

## ABSTRACT

Article history: Received 8 February 2011 Received in revised form 5 May 2011 Accepted 11 May 2011

*Keywords:* Partial metric spaces Fixed point theorem Orbital continuity Fixed point theorems for operators of a certain type on partial metric spaces are given. Orbitally continuous operators on partial metric spaces and orbitally complete partial metric spaces are defined, and fixed point theorems for these operators are given. © 2011 Elsevier Ltd. All rights reserved.

## 1. Introduction and preliminaries

The existence and uniqueness of fixed points of operators has been a subject of great interest since the work of Banach in 1922 [1]. Results for operators on spaces of various types, for example metric spaces, quasi-metric spaces (see e.g. [2,3]), cone metric spaces (see e.g. [4,5]), Menger (statistical metric) spaces (see e.g. [6]), and fuzzy metric spaces (see e.g. [7]), have already been obtained. A new space called a partial metric space (PMS) has been introduced by Matthews [8,9]. Matthews proved a fixed point theorem on this space, which is an analogy of the Banach fixed point theorem. Later, some more results on fixed point theory on PMS were published [10–14].

The definition of a partial metric space is given by Matthews (see [8]) as follows:

**Definition 1.** Let *X* be a nonempty set and let  $p : X \times X \to \mathbb{R}^+$  satisfy

$$(P1) x = y \Leftrightarrow p(x, x) = p(y, y) = p(x, y) 
(P2) p(x, x) \le p(x, y) 
(P3) p(x, y) = p(y, x) 
(P4) p(x, y) \le p(x, z) + p(z, y) - p(z, z)$$

$$(1.1)$$

for all x, y and  $z \in X$ . Then the pair (X, p) is called a partial metric space and p is called a partial metric on X.

One can easily show that the function  $d_p : X \times X \to \mathbb{R}^+$  defined as

$$d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y)$$
(1.2)

satisfies the conditions of a metric on *X*; therefore it is a (usual) metric on *X*. Note also that each partial metric *p* on *X* generates a  $T_0$  topology  $\tau_p$  on *X*, whose base is a family of open *p*-balls  $\{B_p(x, \epsilon) : x \in X, \epsilon > 0\}$  where  $B_p(x, \epsilon) = \{y \in X : p(x, y) \le p(x, x) + \epsilon\}$  for all  $x \in X$  and  $\epsilon > 0$ .

On a partial metric space the concepts of convergence, the Cauchy sequence, completeness and continuity as defined as follows [8].



Mathematics Letters

<sup>\*</sup> Corresponding author. Tel.: +90 3125868753; fax: +90 3125868091.

E-mail addresses: erdalkarapinar@yahoo.com, ekarapinar@atilim.edu.tr (E. Karapınar), ierhan@atilim.edu.tr (İ.M. Erhan).

<sup>0893-9659/\$ –</sup> see front matter 0 2011 Elsevier Ltd. All rights reserved. doi:10.1016/j.aml.2011.05.013

## **Definition 2.**

- (1) A sequence  $\{x_n\}$  in the PMS (X, p) converges to the limit x if and only if  $p(x, x) = \lim_{n \to \infty} p(x, x_n)$ .
- (2) A sequence  $\{x_n\}$  in the PMS (X, p) is called a Cauchy sequence if  $\lim_{n,m\to\infty} p(x_n, x_m)$  exists and is finite.
- (3) A PMS (X, p) is called complete if every Cauchy sequence  $\{x_n\}$  in X converges with respect to  $\tau_p$  to a point  $x \in X$  such that  $p(x, x) = \lim_{n,m\to\infty} p(x_n, x_m)$ .
- (4) A mapping  $f : X \to X$  is said to be continuous at  $x_0 \in X$  if for every  $\epsilon > 0$ , there exists  $\delta > 0$  such that  $F(B_p(x_0, \delta)) \subseteq B_P(Fx_0, \epsilon)$ .

The following lemma on partial metric spaces can be derived easily (see e.g. [8,9,13]).

#### Lemma 3.

(1) A sequence  $\{x_n\}$  is a Cauchy sequence in the PMS (X, p) if and only if it is a Cauchy sequence in the metric space  $(X, d_p)$ . (2) A PMS (X, p) is complete if and only if the metric space  $(X, d_p)$  is complete. Moreover

$$\lim_{n \to \infty} d_p(x, x_n) = 0 \Leftrightarrow p(x, x) = \lim_{n \to \infty} p(x, x_n) = \lim_{n, m \to \infty} p(x_n, x_m).$$
(1.3)

## 2. The main results

We start with an easy lemma which has a crucial role in the proof of the main results.

**Lemma 4** (See e.g. [15]). Assume that  $x_n \to z$  as  $n \to \infty$  in a PMS (X, p) such that p(z, z) = 0. Then  $\lim_{n\to\infty} p(x_n, y) = p(z, y)$  for every  $y \in X$ .

**Proof.** First note that  $\lim_{n\to\infty} p(x_n, z) = p(z, z) = 0$ . By the triangle inequality we have

$$p(x_n, y) \le p(x_n, z) + p(z, y) - p(z, z) = p(x_n, z) + p(z, y)$$

and

$$p(z, y) \le p(z, x_n) + p(x_n, y) - p(x_n, x_n) \le p(x_n, z) + p(x_n, y).$$

Hence

$$0 \leq |p(x_n, y) - p(z, y)| \leq p(x_n, z).$$

Letting  $n \to \infty$  we conclude our claim.  $\Box$ 

In this section we give some fixed point theorems for operators of different types on partial metric spaces. Our first theorem has an analog on metric spaces (see [16]).

**Theorem 5.** Let (X, p) be a partial metric space. Let  $T : X \to X$  be a map for which the inequality

$$ap(Tx, Ty) + b[p(x, Tx) + p(y, Ty)] + c[p(x, Ty) + p(y, Tx)] \le sp(x, y) + rp(x, T^{2}x)$$
(2.1)

holds for all x, y in X where the constants a, b, c, r and s satisfy

$$0 \le \frac{s-b}{a+b} < 1, \quad a+b \ne 0, \ a+b+c > 0, \ c > 0, \ c-r \ge 0.$$
(2.2)

Then T has at least one fixed point in X.

**Proof.** Take an arbitrary  $x_0 \in X$ . Define the sequence

$$x_{n+1} = Tx_n, \quad n = 0, 1, 2, \dots$$
 (2.3)

Substituting  $x = x_n$  and  $y = x_{n+1}$  in (2.1) we obtain

 $ap(Tx_n, Tx_{n+1}) + b[p(x_n, Tx_n) + p(x_{n+1}, Tx_{n+1})] + c[p(x_n, Tx_{n+1}) + p(x_{n+1}, Tx_n)] \le sp(x_n, x_{n+1}) + rp(x_n, T^2x_n)$ which implies

 $ap(x_{n+1}, x_{n+2}) + b[p(x_n, x_{n+1}) + p(x_{n+1}, x_{n+2})] + c[p(x_n, x_{n+2}) + p(x_{n+1}, x_{n+1})] \le sp(x_n, x_{n+1}) + rp(x_n, x_{n+2}).$ Rewriting this inequality as

$$(a+b)p(x_{n+1}, x_{n+2}) + (c-r)p(x_n, x_{n+2}) + cp(x_{n+1}, x_{n+1}) \le (s-b)p(x_n, x_{n+1}),$$

and using the fact that

 $(c-r)p(x_n, x_{n+2}) + cp(x_{n+1}, x_{n+1}) \ge 0$ 

we obtain

$$p(x_{n+1}, x_{n+2}) \leq kp(x_n, x_{n+1}),$$

where  $k = \frac{s-b}{a+b}$  and clearly  $0 \le k < 1$ . Thus,

$$p(x_{n+1}, x_{n+2}) \le kp(x_n, x_{n+1}) \le k^2 p(x_{n-1}, x_n) \le \dots \le k^{n+1} p(x_0, x_1).$$
(2.4)

We will show that  $\{x_n\}$  is a Cauchy sequence. Without loss of generality assume that n > m. Then, using (2.4) and the triangle inequality for partial metric (P4) we have

$$0 \le p(x_n, x_m) \le p(x_n, x_{n-1}) + p(x_{n-1}, x_{n-2}) + \dots + p(x_{m+1}, x_m) - [p(x_{n-1}, x_{n-1}) + p(x_{n-2}, x_{n-2}) + \dots + p(x_{m+1}, x_{m+1})] \le p(x_n, x_{n-1}) + p(x_{n-1}, x_{n-2}) + \dots + p(x_{m+1}, x_m) \le [k^{n-1} + k^{n-2} + \dots + k^m]p(x_0, x_1) = k^m \frac{1 - k^{n-m}}{1 - k} p(x_0, x_1).$$

Hence,  $\lim_{n,m\to\infty} p(x_n, x_m) = 0$ , that is,  $\{x_n\}$  is a Cauchy sequence in (X, p). By Lemma 3,  $\{x_n\}$  is also Cauchy in  $(X, d_p)$ . In addition, since (X, p) is complete,  $(X, d_p)$  is also complete. Thus there exists  $z \in X$  such that  $x_n \to z$  in  $(X, d_p)$ ; moreover, by Lemma 3,

$$p(z, z) = \lim_{n \to \infty} p(z, x_n) = \lim_{n, m \to \infty} p(x_n, x_m) = 0$$
(2.5)

implies

$$\lim_{n \to \infty} d_p(z, x_n) = 0.$$
(2.6)

We will show next that z is the fixed point of T. Notice that due to (2.5), we have p(z, z) = 0. Substituting  $x = x_n$  and y = z in (2.1) we obtain

$$ap(Tx_n, Tz) + b[p(x_n, Tx_n) + p(z, Tz)] + c[p(z, Tx_n) + p(x_n, Tz)] \le sp(z, x_n) + rp(x_n, T^2x_n)$$

which implies

$$ap(x_{n+1}, Tz) + b[p(x_n, x_{n+1}) + p(z, Tz)] + c[p(z, x_{n+1}) + p(x_n, Tz)]$$

$$(2.7)$$

(2.8)

$$\leq sp(z, x_n) + rp(x_n, x_{n+2}).$$

Taking the limit as  $n \to \infty$ , using (2.5) and noting Lemma 4, we obtain

$$(a+b+c)p(z,Tz) \leq 0$$

Since a + b + c > 0, we then have

 $0 \le (a+b+c)p(z,Tz) \le 0$ 

which implies p(z, Tz) = 0. Using (1.2), we end up with

 $0 \le d_p(z, Tz) = 2p(z, Tz) - p(z, z) - p(Tz, Tz) = -p(Tz, Tz) \le 0,$ 

and hence,  $d_p(z, Tz) = 0$ , that is, z = Tz, which completes the proof.  $\Box$ 

We next define orbitally continuous maps on partial metric spaces and orbitally complete partial metric spaces. In fact, fixed point theories for certain orbitally continuous maps on metric spaces and orbitally complete metric spaces have been investigated by Ćirić [17]. On partial metric spaces we define these concepts as follows.

#### **Definition 6.**

(1) Let (X, p) be a PMS. A map  $T : X \to X$  is called orbitally continuous if

$$\lim_{i \to \infty} p(T^{n_i}x, z) = p(z, z)$$
(2.9)

implies

$$\lim_{i \to \infty} p(TT^{n_i}x, Tz) = p(Tz, Tz)$$
(2.10)

for each  $x \in X$ .

1896

(2) A PMS (X, p) is called orbitally complete if every Cauchy sequence  $\{T^{n_i}x\}_{i=1}^{\infty}$  converges in (X, p), that is, if

$$\lim_{i,j\to\infty} p(T^{n_i}x, T^{n_j}x) = \lim_{i\to\infty} p(T^{n_i}x, z) = p(z, z).$$
(2.11)

We need the following lemma in order to proceed with the fixed point theorems of orbitally continuous maps.

**Lemma 7** (See e.g. [15]). Let (X, p) be a complete PMS. Then:

(A) If p(x, y) = 0, then x = y. (B) If  $x \neq y$ , then p(x, y) > 0.

**Proof of (A).** Let p(x, y) = 0. By (P3), we have  $p(x, x) \le p(x, y) = 0$  and  $p(y, y) \le p(x, y) = 0$ . Thus, we have

$$p(x, x) = p(x, y) = p(y, y) = 0.$$

Hence, by (P2), we have x = y.  $\Box$ 

**Proof of (B).** Suppose that  $x \neq y$ . By definition  $p(x, y) \ge 0$  for all  $x, y \in X$ . Assume that p(x, y) = 0. By part (A), x = y which is a contradiction. Hence, p(x, y) > 0 whenever  $x \neq y$ .  $\Box$ 

In what follows, we state and prove an analog of the fixed point theorem for orbitally continuous maps on orbitally complete metric spaces given by Ćirić in 1974 (see [17]).

**Theorem 8.** Let  $T: X \to X$  be an orbitally continuous map on an orbitally complete PMS (X, p). If T satisfies

$$\min\{p(Tx, Ty), p(x, Tx), p(y, Ty)\} \le ap(x, y)$$
(2.12)

for some a < 1 and all x, y in X, then the sequence  $\{T^n x\}$  converges to a fixed point of T for each x in X.

**Proof.** Let  $x_0 \in X$  be arbitrary. Define the sequence  $\{x_n\}$  as follows:

$$x_{n+1} = Tx_n, \quad n = 0, 1, 2, \ldots$$

Clearly, if  $x_n = x_{n+1}$  for some  $n \in \mathbb{N}$ , then *T* has a fixed point. Therefore, we assume that  $x_n \neq x_{n+1}$  for all  $n \in \mathbb{N}$ . Hence, by Lemma 7, we have  $p(x_n, x_{n+1}) > 0$  for all  $n \in \mathbb{N}$ . Substituting  $x = x_n$  and  $y = x_{n+1}$  in (2.12) we obtain

$$\min\{p(Tx_n, Tx_{n+1}), p(x_n, Tx_n), p(x_{n+1}, Tx_{n+1})\} \le ap(x_n, x_{n+1})$$
(2.13)

which implies

$$\min\{p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})\} \le ap(x_n, x_{n+1}).$$
(2.14)

Now, if  $\min\{p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})\} = p(x_n, x_{n+1})$ , it follows that

$$p(x_n, x_{n+1}) \leq ap(x_n, x_{n+1})$$

which is impossible since a < 1. Then we must have

$$\min\{p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})\} = p(x_{n+1}, x_{n+2})$$

and hence

$$p(x_{n+1}, x_{n+2}) \le ap(x_n, x_{n+1}).$$
(2.15)

Then, for n > m by using (P4) and using (2.15), we have

$$0 \le p(x_n, x_m) \le p(x_n, x_{n-1}) + p(x_{n-1}, x_{n-2}) + \dots + p(x_{m+1}, x_m) - [p(x_{n-1}, x_{n-1}) + p(x_{n-2}, x_{n-2}) + \dots + p(x_{m+1}, x_{m+1})] \le p(x_n, x_{n-1}) + p(x_{n-1}, x_{n-2}) + \dots + p(x_{m+1}, x_m) \le [a^{n-1} + a^{n-2} + \dots + a^m]p(x_0, x_1) = a^m \frac{1 - a^{n-m}}{1 - a} p(x_0, x_1).$$

Thus,

$$\lim_{m,n\to\infty}p(x_n,x_m)=0$$

so we conclude that  $\{x_n\} = \{T^n x_0\}$  is Cauchy in PMS (X, p), and since (X, p) is orbitally complete, then  $\{T^n x_0\}$  converges to a limit, say  $z \in X$ , such that

$$\lim_{m,n\to\infty} p(T^n x_0, T^m x_0) = \lim_{n\to\infty} p(T^n x_0, z) = p(z, z) = 0.$$
(2.16)

Now, we will show that z is a fixed point of T. Since T is orbitally continuous and noting (2.16) we observe that

$$\lim_{n \to \infty} p(T^n x_0, z) = p(z, z) \Rightarrow \lim_{n \to \infty} p(TT^n x_0, Tz) = p(Tz, Tz).$$
(2.17)

Also, taking the limit as  $n \to \infty$  and using Lemma 4 with (2.17) we obtain

$$p(z, Tz) \le p(z, T^{n+1}x_0) + p(T^{n+1}x_0, Tz) - p(T^{n+1}x_0, T^{n+1}x_0)$$
  
$$\le p(z, x_{n+2}) + p(T^{n+1}x_0, Tz) - p(x_{n+2}, x_{n+2}),$$
(2.18)

which implies that

 $p(z, Tz) \leq p(Tz, Tz).$ 

However, from (P2), this is possible only if

$$p(z, Tz) = p(Tz, Tz).$$
 (2.19)

Using (2.12), (2.19) and (2.16) we have

$$\min\{p(Tz, Tz), p(z, Tz), p(z, Tz)\} \le ap(z, z)$$
  

$$p(Tz, Tz) = p(z, Tz) \le ap(z, z) = 0.$$
(2.20)

Thus, (2.20) implies p(Tz, Tz) = p(z, Tz) = p(z, z) = 0 and by (P1) we obtain z = Tz which completes the proof.  $\Box$ 

**Example 9.** Let X = [0, 1]. Define  $p : X \times X \to \mathbb{R}^+$  as

 $p(x, y) = \max\{x, y\}$ 

with

$$T: X \to X, \qquad Tx = \frac{x}{2}$$

Clearly, (X, p) is a partial metric space. Now, let  $x \le y$ . Then p(x, Tx) = x, p(y, Ty) = y,  $p(Tx, Ty) = \frac{y}{2}$  and p(x, y) = y. Hence, we have

 $\min\{p(x, Tx), p(y, Ty), p(Tx, Ty)\} = \min\left\{x, y, \frac{y}{2}\right\}.$ 

If min  $\left\{x, y, \frac{y}{2}\right\} = \frac{y}{2}$ , then

$$\min\{p(x, Tx), p(y, Ty), p(Tx, Ty)\} = \frac{y}{2} \le \frac{1}{2}p(x, y)$$

If min  $\{x, y, \frac{y}{2}\} = x$ , then obviously  $x \le \frac{y}{2}$  and

$$\min\{p(x, Tx), p(y, Ty), p(Tx, Ty)\} = x \le \frac{1}{2}p(x, y).$$

Then *T* satisfies the conditions of Theorem 8 with  $a = \frac{1}{2}$ . Therefore, the sequence  $\{T^n x\} = \left\{\frac{x}{2^n}\right\}$  converges to the fixed point z = 0 of the operator *T* for every  $x \in X$ .

In the next theorem we consider an orbitally continuous operator satisfying a condition given by a rational expression. This theorem also has an analog in metric spaces (see [18]).

**Theorem 10.** Let  $T : X \to X$  be an orbitally continuous map on an orbitally complete PMS (X, p). If T satisfies

$$\frac{\min\{p(Tx, Ty)p(x, y), p(x, Tx)p(y, Ty)\}}{\min\{p(x, Tx), p(y, Ty)\}} \le ap(x, y)$$
(2.21)

for some a < 1 and all x, y in X such that  $p(x, Tx) \neq 0$  and  $p(y, Ty) \neq 0$ , then the sequence  $\{T^nx\}$  converges to a fixed point of T for each x in X.

**Proof.** Let  $x_0 \in X$  be arbitrary. Define the sequence  $\{x_n\}$  as follows:

 $x_{n+1} = Tx_n, \quad n = 0, 1, 2, \ldots$ 

It is clear that if  $x_n = x_{n+1}$  for some  $n \in \mathbb{N}$ , then *T* has a fixed point. Thus, we suppose that  $x_n \neq x_{n+1}$  for all  $n \in \mathbb{N}$ . Hence, by Lemma 7, we have  $p(x_n, x_{n+1}) > 0$  for all  $n \in \mathbb{N}$ . We substitute  $x = x_n$  and  $y = x_{n+1}$  in (2.21) and obtain

$$\frac{\min\{p(Tx_n, Tx_{n+1})p(x_n, x_{n+1}), p(x_n, Tx_n)p(x_{n+1}, Tx_{n+1})\}}{\min\{p(x_n, Tx_n), p(x_{n+1}, Tx_{n+1})\}} \le ap(x_n, x_{n+1})$$
(2.22)

1898

which implies

$$\frac{p(x_{n+1}, x_{n+2})p(x_n, x_{n+1})}{\min\{p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})\}} \le ap(x_n, x_{n+1}).$$
(2.23)

Now, if  $\min\{p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})\} = p(x_{n+1}, x_{n+2})$ , it follows that

$$p(x_n, x_{n+1}) \leq ap(x_n, x_{n+1})$$

which is impossible since a < 1. Then we must have min{ $p(x_{n+1}, x_{n+2}), p(x_n, x_{n+1})$ } =  $p(x_n, x_{n+1})$  and hence

$$p(x_{n+1}, x_{n+2}) \le ap(x_n, x_{n+1}).$$
(2.24)

Regarding the analogy with Theorem 8, we get

$$\lim_{n \to \infty} p(x_n, z) = p(z, z) = 0, \text{ and } p(Tz, z) = p(Tz, Tz).$$
(2.25)

If p(Tz, z) = p(Tz, Tz) = 0, then by (P1) we have Tz = z. Suppose p(Tz, z) = p(Tz, Tz) > 0. Consider (2.21) for x = Tz and v = z:

$$\frac{\min\{p(T^2z, Tz)p(Tz, z), p(Tz, T^2z)p(z, Tz)\}}{\min\{p(Tz, T^2z), p(z, Tz)\}} \le ap(Tz, z)$$
(2.26)

Then we have

$$p(T^{2}z, Tz)p(Tz, z) \le ap(Tz, z) \min\{p(Tz, T^{2}z), p(z, Tz)\}.$$
(2.27)

If min{ $p(Tz, T^2z), p(z, Tz)$ } =  $p(Tz, T^2z)$ , then since a < 1, we have a contradiction. Thus, min{ $p(Tz, T^2z), p(z, Tz)$ } = p(z, Tz) and hence by (2.27)

$$p(T^{2}z, Tz)p(Tz, z) \le ap(z, Tz)p(z, Tz) \Leftrightarrow p(T^{2}z, Tz) \le ap(z, Tz).$$
(2.28)

Notice that due to (P2) we always have

$$p(Tz, Tz) \le p(T^2z, Tz). \tag{2.29}$$

Combining (2.28), (2.29) and (2.25), we get

 $p(Tz, z) = p(Tz, Tz) < p(T^2z, Tz) < ap(z, Tz)$ 

which is possible only if p(Tz, z) = 0. Hence, by Lemma 7, we get Tz = z.  $\Box$ 

The fixed point theorems presented in this work give conditions only for the existence of fixed points and not for the uniqueness. In the case of (usual) metric space, these theorems give similar results, that is, the conditions only imply the existence of fixed points.

### References

- [1] S. Banach, Sur les operations dans les ensembles abstraits et leur application aux equations integrales, Fund. Math. 3 (1922) 133-181.
- [2] J. Caristi, Fixed point theorems for mapping satisfying inwardness conditions, Trans. Amer. Math. Soc. 215 (1976) 241-251.

- [3] T.L. Hick, Fixed point theorems for quasi-metric spaces, Math. Japon. 33 (2) (1988) 231–236.
  [4] S. Janković, Z. Kadelburg, S. Radenović, On cone metric spaces: a survey, Nonlinear Anal. 74 (7) (2011) 2591–2601.
  [5] E. Karapınar, Fixed point theorems in cone Banach spaces, Fixed Point Theory Appl. (2009) doi:10.1155/2009/609281. Article ID 609281, 9 pages.
- [6] K. Menger, Statistical metrics, Proc. Natl. Acad. Sci. USA 28 (1942) 535-537.
- [7] O. Kramosil, J. Michalek, Fuzzy metric and statistical metric spaces, Kybernetika 11 (1975) 326–334.
- [8] S.G. Matthews, Partial metric topology, Research Report 212, Dept. of Computer Science, University of Warwick, 1992.
- [9] S.G. Matthews, Partial metric topology, in: Proc. 8th Summer Conference on General Topology and Applications, Annals of the New York Academi of Sciences, vol. 728, 1994, pp. 183-197.
- [10] S. Oltra, O. Valero, Banach's fixed point theorem for partial metric spaces, Rend. Istit. Mat. Univ. Trieste 36 (2004) 17-26.
- [11] O. Valero, On Banach fixed point theorems for partial metric spaces, Appl. Gen. Topol. 6 (2005) 229–240.
- [12] I. Altun, F. Sola, H. Şimşek, Generalized contractions on partial metric spaces, Topology Appl. 157 (2010) 2778–2785.
- [13] I. Altun, A. Erduran, Fixed point theorems for monotone mappings on partial metric spaces, Fixed Point Theory Appl. 2011 (2011) doi:10.1155/2011/508730. Article ID 508730, 10 pages.
- [14] E. Karapınar, Weak  $\phi$ -contraction on partial metric spaces, J. Comput. Anal. Appl. (in press).
- [15] T. Abdeljawad, E. Karapınar, K. Taş, Existence and uniqueness of common fixed point on partial metric spaces, Appl. Math. Lett., in press (doi:10.1016/j.aml.2011.05.014).
- [16] E. Karapınar, A new non-unique fixed point theorem, Ann. Funct. Anal. 2 (1) (2011) 51–58.

[18] J. Achari, Results on non-unique fixed points, Publ. Inst. Math. 26 (1978) 5-9.

<sup>[17]</sup> L.B. Ćirić, On some maps with a nonunique fixed point, Publ. Inst. Math. 17 (1974) 52-58.